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mA (B FH)
X4 FHIRLE IR A K EE
=8 [HERE (%) £ |IRALLER(%)
1 HMEERUVEIES 78,600 54.04 79,000 100.51
2 BXH& 9,800 6.74 0 0.00
3 A 2,058 1.41 38 1.85
4 fRE 55,000 37.81 55,103 100.19
m A & &t 145,458 100.00 134,141 92.22
%
X4 FHIRLE X HiFEE
=8 [1BRE (%) =8 [BITEG%)
1 BR 132 0.09 33 25.00
2 WHKE 115,447 79.37 32,140 27.84
3 EXHE 3,300 2.27 3,300 100.00
4 FlEE 26,579 18.27 0 0.00
m H & &t 145,458 100.00 35,473 24.39
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mA (B FH)
N SFE AFE
£5  |[HETER(%)| 2%
1 HMEERUVEIES 79,300 99.37 79,800
2 BXH&E 9,800 100.00 9,800
3 A 983 26.65 3,689
4 BFHE 61,997 91.74 67,578
m A & &t 152,080 94.54 160,867
%
®ay SFE AFE
£5  |[HETER(%)| 2%
1 Be 76 90.48 84
2 WHKE 94,201 96.73 97,386
3 EXHE 2,700 192.86 1,400
4 FiggE 0 0.00 0
m H & &t 96,977 98.09 98,870




